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SANA l!!!!f!!!ll/a --A-;J @medical_san 

■ Part one: Vocabulary
Dlrccttons: Complete the following sentences by choosing the bat answer. 

121 _ The patient with a severe pain in his right index finger bad sulfend a/an ........... and needed• aast • 

n) fracture b) laceration c) bruise d) incision

121- As an important part of their duties, nurses are expected to recognize and then properly

...... ..... patients' emotional stress. 

a) initiate b) alleviate c) exacerbate d) complicate

123 - Long after the disease oo5ct, the patient's symptoms still .......... � mainly because sbc avoids 

scekin� medical advice. 

o) abate b) recede c) subside d) persist

124 _ Nc,,cr count on his ideas; he often ........... bis former opinions and e:sp��es new ones. 

a) rcc�dcs from b) insists on c) ndhcrcs to d) ascends to

t 2S _ She had a terrible accidenl; she ls alive because of th� ........... action of the two ambulance men. 

a) prompt b) sluggish c) lcttiargic d) l1csitanl

126 _ Japuo is an ........... country, providing patients with bigb quality and luxurious healthcare 

services. 

a) affiuent b) afflicted �) oggrcssive d) amiable

127 _ Di11gooscd with aaocer, the paatient �bow..-d M ••••••••••• beba�ior. a mixture t,r sopbistkatcd but 

childlike bebavion. 

a) peculiar b) typical c) regular d) genial

128 _ The dendrites are ........... the axonal e11ds or other neurons, with oo other tissues i.o between. 

a) adjacent to b) distant from c) auxiliary to d) distorted by

129 - Admission of too many patients lo a short time period can result in tbe ........... of the health 

systcan as we have a limited number of personnel and facilities. 

a) acknowledge111ent b) collapse c) invigoration

l � 

d) retrieval

130 - Scientists warn that tbe significant increase in the number of poUuted days in Tehran signals

a(n) ........... rise of deaths due to cancer in tbe years to come. 

a) imminent b) trivial c) negligible d) marginal
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131 - Sol111d WRS n1orc ...... ..... throtagh the ll9C of defective 1,carlng aidN. 

n) induced b) distorted c) pursued d) simulated

132 - Vitnmins can cause some con11,llct1tlons If they ........... ttac recommended dally do1age. 

a) provoke l'>) exceed c) mcdintc d) muintain ..

133 - Tl1c engineer strcs!jcd thot tl1c insulotlng material 1hould be ••••••••••• in water. 

a) imper1ncablc b) i11satinble c) unsaturated d) inflammable

134 - The patient had difficulty breatl1ing that wa, originally .....•••••• left upper lobe pneumonia. 

a) deviated from b) mat-adjusted to c) attributed to d) excluded from

13S - Marking World Malaria Duy, tl,c World Health Organization has issued o ••••••••••• increased 

implementotion of new and cxi,tiog interventions to save liv� from malaria. 

a) call for b) halt for c) cessation of d) pause to

136 _ Nowadays, doctors believe mi,1imally ........... surgeries are generally less risky than traditional 

ones a, they involve smaller surgical cuts. 

a) indicative b) invasive c) infective d) intensive

137 _ Without the results of the blood test, the doctor could only make a/an ••••••••••• diagnosis. 

a) exclusive b) conclusive c) comprehensive d) tentative

138 _ When a drug is not effective enough, its -=ffect can be ••••••••••• by the administration or another 

drug at the same time. 

a) eliminated b) potentiated c) relieved d) declined

139 _ A! there are no cures for some diseases, their ........... is uot f avorable and the patients are more 

susceptible to premature death. 

a) diagnosis b) detection c) eradication d) prognosis

140 _ The groundbreaking discoveries in the field or nanotechnology have ••• •••••••• (rah Idea and

policies lo medical 1cience1. 

a) delivered J,f postpOntd c) invaded d) confined 
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PSA Comprehension 
Di• ections: Read the following passag� aarefully. Each passage is followed by some question,:­
Complctc each question with the most suitable choice (a, b, c, or d). Base your answers on the 
info, ,nation given in the passage ogly. 

Passage 1 

We arc all looking for that sweet spot when it comes to fitness, that ephemeral balance �tween working out 
too much and not working out enough. Finding it can be tricky. Some people wonder if it is bad to exercise 
daily. The answer is yes and no, it depends on how you define working out. It is generally advisable to move 
every single day. When we move our bodies, oxygen and nutrients are delivered to tissues and the 
cardiovascular system ,vorks more efficiently during daily tasks. But moving every day does not necessarily 
mean "working out". What daily movement looks like for each person will, and should, vary. 

-

If you arc concerned wltethcr you need to do a sweat-inducing workout every single day, then the answer is 
no. People are often intimidated by committing to a healthy lifestyle because they think that means intense 
exercise every day, but your workout plan may also include 20 minutes of walking, stretching, foam rolling 
or gentle yoga. In fact, at the ma.ximum, it is recommended to do strength training three times a week for 30 
minutes and cardio exercise five days a week for 30 minutes. Of course, if you are an athlete or training for a 
race. your workout schedule may be more intense than this. 

141- What doa the underlined pronoun"!!" (paragraph 1) refer to?

a) ephemeral balance
b) enough working
c) working out
d) sweet spot

142 _ Tbe author i.5 primarily concerned with .......... . 

a) exercises bad for your health
b) consequences of over exercising
c) how much exercise is needed for individuals
d) what benefits physical activity has for individuals

143- "If you are concerned whether you need to do n sweat-inducing workout every 5ingle day''

means that you are .......... . 
a) certain that a sweat- inducing workout is required
b) at a dilemma to think of workouts as regular activities.
c) told that a sweat- inducing workout sl1oµld be truly employed
d) recommended to do a sweat-inducing workout every single day

144- The underlined word ''move" is closest in meaning to .......... . 

a) do some heavy exercise everyday
b) work out ofter daily tasks regularly
c) take action when things are out of control
d) do basic daily tasks with a continuous motion,

14S- According to the pusag� people arc .......... . 

a) frightened when constrained by a healthy lifestyle in practice
b) shocked when they are constantly exposed to health risks
c) highly commincd when following an unhealthy lifestyle
d) more active when taking on healthy life styles
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Vaccination is considered the most successful and valuable medical intervention ever introduced. The bincr

tru� however, is that although vaccines keep people healthy and save money. fewer and fewer pharmaceutical 
rompanies invest in the development of new vaccines. Rather, their invtstJ11ent dollars arc channeled 
disproportionately to new drug therapies in are.as such as oncology, immunology, inflammation, and 
cardiovascular, metabolic, and neurodegcnerative diseases, for which the return on investment tends to be 
higher and more predictable than for vaccines. How did we end up in this situation, in which the allocation of 
resources is increasingly skewed against vaccines? The problem lies partly in the cost-effectiveness approach, 
which typically accounts for averted medical care costs and loss of parental work time to care for sick children, 
and not the full benefits of health to such items as lifetime income and wealth accumulation, and its cconom ic 
spillover effects on the broader society. However, understanding the value of vaccines to our society and taking 
this value properly into account in the allocation of resources to vaccine development arc both essential to 
realizing the continuing contribution vaccines can make to human well-being and progress. 

146- The allocation of raourccs in the neld of medicine tends to be in .......... . 

a) the development of new vaccines
b) vaccine-induced medical interventions
c) novel medicinal treatments for different diseases
d) the establishment of new phannaccutical companies

147 _ The investment in vaccine development .......... . 

a) benefits from the disproportionate resource allocation
b) helps keep people healthy and save money
c) jeopardizes human well-being and progress
d) causes averted medical care costs

148 _ The writer uses the expression "bitter truth'' to show .......... . 

a) drug companies' preference for Investment in phannaccutical treatments
b) phannacists' concern about research in vaccine-based diseases
c) drug companies denial of the effectiveness of drug therapies
d) allocation of resources to vaccine development

149- The passage b primarily concerned with .......... . 

a) consequences of missing vaccination
b) diverse approaches in phannacology
c) demerits of vaccine development practices
d) resource allocation in vaccine and drug therapies

150 - The author believes that .......... . 

a) resource allocation sho\;lld be made with an eye for values of vaccines
b) parental work time should be addressed in vaccine development

,J drug_ c?mp�nies ten�encies for �erapies are cost-effective
d) mcd1c1nal mterventlon can contnbute to ,vcalth growth. 

• 
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The monkcypox virus is an orthopoxvirus that causes mpox (monkcypox). a disease with symptoms similar
to s1natlpox, altl,ough less severe. While smallpox was eradicated in l 980, mpox continues to occur in
countries of Central and West Africa. Since May 2022, cases have also been reported from countries without
previously documented mpox transmission outside the African region. Two distinct clades of the monkcypox
virus have been identified: Clade I (previously known as lhc Congo Basin (central African) clade and Clade

@the fonner West African clade). Mpox is a zoonosis, a disease that is transmitted from animals to humans,
with cases often found close to tropical rainforests where there arc animals that carry the virus. Evidence of
monkcypox virus infection has been found in animals including squirrels, Gambian pouched rats, donnice.
different species of monkeys and others. The disease can also spread from humans to humans. It can be
transmitted through contact with bodily fluids, lesions on the skin or on internal mucosal surfaces, such as in
the mouth or throa� respiratory droplets and contaminated objects. Detection of viral DNA by polymerase
chain reaction (PCR) is the preferred laboratory test for mpox. The best diagnostic specimens nrc taken
directly from the rash - skin, fluid or cruslS, or biopsy where feasible. Antigen and antibody detection
methods may not be useful as they do not distinguish between orthopoxviruscs.
-

1S1 - 1- Smallpox .. � ...... .

a) equals in severity to the monkeypox 
b) is widespread in certain African countries 
c) is an a.5)'fllptomatic fum, of the monkeypox 
d) manifests more serious symptoms than the monkeypox

152- Central and West Africa arc .......... .

a) declared as mpox-ficc regions 
b) the locations to which mpox transmission is limited
c) the locatjons reporting mpox cases even nowadn)1

S 

d) famou.� for having three important clades of the monkcypox

153 - A zoonosis is .......... .

a) reportedly conf med to tropical rainforests 
b) conside� as a subcategory of monkeypox 
c) a disease transmitted from animals to humans
d) a disease transmitted from humo.ns to humans

154 _ Wbicb of the following is true about mpox?

a) This disease can be spread through intact skin. 
b) 1-lumans can transmit monkeypox among each other. 
c) Contaminated materials cannot lead to monkcypox transmission.
d) Lesions on internal mucosal surf aces can help treat the disease.

15S- Antigen and antibody detection methods for mpox is not preferred because in tbese
methods .......... .

� a) polymerase chain reaction is merely used for bacterial disca.,es
b) orthopoxviruses cannot be diff ercntiatcd from each other . • 
c) taking diagnostic specimens from the rash is not effective
d) it is not f casible to  obtrun specimen
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The effects of a l1eart anack arc often pc, ,r1ancnt. as the heart tissue cannot regenerate, unlike some other 
tissues. This means lhal despite somebody surviving a hean attack, the -damage done could cause health 
problems or death in tllc yco.rs following il,c evenL Regenerating heart tissue to allow dnmaged heart tissue to 
be treated is a hot topic in research. Now researchers have discovered a mechanism that allows them to treat 
heart tissue in mice. before a heart attack, in a way that provides protection months later. Although _m.Q_sl 
people survive a heart attack initinJly, the rjsk of death significantly increases over the following years. ln 
fact.. 65% of people who l1avc a heart ottack over the oge of 65 die within eight years of the initial incident. 
This is at least partly because while a person may survive nn initial heart attack, the heart attack itself, which 
leads to the he.art tissue being deprived of oxygen and then dying, does not regenerate in adult humans. In a 
recent animal study,. researchers identified a mechm1ism thnt allowed them to treat heart tissue and make 
healthy rnicc's hearts more resilient before a heart attack 

156 - According to the passage, .......... . 

a) heart tissue is able to regenerate after a sb"okc
b) heart tissue is more vulnerable to future attacks than other tissues
c) people experiencing heart attack will survive another attack
d) the treatment for a heart attack has si�ificantly improved

1S7 _ According to the text. bcar.t tissue ........... during a heart attack. 

a) becomes resistant to future heart attacks
b) regenerates gradually
c) regenerates and survives
d) gets deprived of oxygen and then die

158 _ \Vbat did researchers rand out in the recent animal study?

-a) A mechanism that could be utilized to restore oxygen 
b) A way to restrict the lifespan of mice
c) A method to suspend heart tissue regeneration
d) A mechanism to help the mice's heart resist future attacks

159 _ Tbe significance of the animal study was to discover a ..••.••••.. 

a) new way to treat heart daoiage in animals
b) new trend for heart failure in humans
c) method to prevent heart tissue morbidity
d) method to Introduce a hot topic in research

160- According to the passage .......... . 

• 

a) more than half of  people instantly die after initial heart attack
b) people over 65 are more likely to die within 8 years after the attack .. ,
c) 65% of patients with heart attack survive only for 8 years
d) experiencing heart attack in patients in their late 60's is more than 65%
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